Monomials and Polynomials 2.2

Simplify each expression.
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Show what each expression means. Simplify.
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Simplify the following expressions, Show the algebraic shortcut you use.
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Simplify.
46) (12d - 5e + 4f) + (16d - 8e - f) 47) (-7g- 11h - 2j) + (-5g + 6h - )
=28d - 13e + 3d =-129-5h - 3]
48) (35r - 19t + 22v) + (-23r - 8t - 38v) 49) (-27w + 13x - 4ly) - (17w + 19x - 26y)
=12r-271-16v = -44w - 6x -15y
50) (-11k*+16n - 4m’) - (-12n? + 5k® - 9m°) 51) (6p+ 9qg° + 3r® - 5t°) + (6k° + 2v?)

= - 5k3-11k* - 4m’ + 9m® + 16n +12n°
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